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CxeMa BBIITOAHEHUSA PAaBHOCUABHBIX
IIPpe00pa30oBaHUN ITOKA3ATE€ABHBIX

ypaBHEHUU
ad>0, a’® = g&8®.
1) ecru a+1,
mo f(x) = g(x)
2)eciu a=1,
Mo X — Jaroooe YuUCio

uz O/3.



HPOCTeﬁmHe IIOKA3ATEABHBIC

YpaBHEHU
) 27'=2% 2) 577 =1
x+1 =3 577 =357
Yy =2 x—3=0

Omeem :x = 2 X =3

Omeem :x = 3




Pemure ypaBHeHUA

3) 37 = -3 Pewume :
Kopneu nem 1) 100* =10
(mk. 3" )0 2) 6% = 36
051 6cex t i

3)3 = 277
4) 625" =-25

Omeem :xopHel Hem




4. BpiHeceHMe O0IIIEr0 MHOYKHUTEAA

7 +7"°=350

7 (1+77)=350

7 350
50

7 =7

X =




5. IIpuBeaeHmE K OAHOMY
OCHOBAHUIO

100!

J10*
102(36—1)

X

103

=2"-.5"

= (2-5)°

2(@17%(11)96% x X,

Omeem : x = 3




6. 3amMeHA mepEMEHHOU

25" 45— 6=

5°45.5"—=6=0 IIyems 5=y, y)0 (*)
y2+5y—6:O

He %0982 —6 — (%)

5 =1

x=0

Omeem : x =0




Pemure ypaBHeHUA

[) 4.2° = Omeemuwi 1) x = =2
2) 2M3% =576 2) x=2
3)3%1-2.3 2 =25 3) x=12
)97 - 4.3 — 45 =0 4) x =2
5)471 4 7.2 —2 = 0)x=-2



Pemwure ypaBHeHUA

11) 4%.37=36
[] 2) 49 x+1 — (ljx

7
73) 36-2167" =1
14981 =077

1 3) 625% = — 5




Pemmnre ypaBHEeHUA

ey 3-5.37=36

7y T -14.77=5

1 8) 5x+1 Sx 5x—1:31
19 474 7.25- 2 =0
10 3.05%_8.15% + 5.9 =)




Pemmure ypaBHeHUA

11)
12)
13)
14)

15)

10"+ 4= 8" +4.5"
323(x2—8 ) _ 8)19,@2 _

(2777 -16)§ 4x+11=0
3"+ 47=5"
(757 —49) —4x -3 =0




